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Questions

This large peninsula in canada is divided between newfoundland and quebec?

Which one of the following countries makes maximum use of the geothermal energy?

Which peninsula belongs to australia (Queensland) and terminates in the torres strait?

Which one of the following natural region is best known for the production of grapes?

In which of the following countries has maximum damage to the forests been caused by acid
rain?

Which one of the following activities occupies the largest area of the world?

Which of these capitals is on a peninsula?

What is the second largest peninsula in europe?

Which one of the following geographers has developed the idea of the mobility transition?

Which of these is not a sea that surrounds the balkan peninsula?

Answers Choice

A
. new brunswick&nbsp;
. hova scotia
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cape preton

labrador

New Zealand
Japan
Iceland
Russia

. yorke peninsula
. melville peninsula

banks peninsula

. cape york peninsula

Hot deserts
Monsoon

. Equatorial

Mediterranean

Sain

. Netherlands

Poland
ltaly

Commercial plantation

. Subsistence agriculture

Commercial grain farming

. Pastoral herding

. ljublijana, slovenia
. riga, latvia
. lisbon, portugal&nbsp;

amsterdam

scandinavian
italian

balkan
iberian

L.A.Kosinski
Ravenstein
E.S.Lee

. W.Zelinsky

. lonian sea&nbsp;

. caspian sea&nbsp;
C.
D.

mediterranean sea&nbsp;
aegean sea



